
  Christmas Presents  
 

It is total chaos at Santa Claus’s workshop! Help the elves sort out the different 

presents!   
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black                 
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yellow                 

small cars                 

scooter                 

teddy bear                 

train                 

Australia                 

Canada                 

England                 

South Africa                 
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Clues 
 

1. Neither Colin nor Dylan comes from a country in the northern 

hemisphere. 

2. The English boy will get a train, but it is not black. 

3. Arthur is not the youngest nor the oldest boy. 

4. The small cars are a warm colour and will be given to the 3-year-

old boy. 

5. The blue present will be given to Arthur. 

6. Colin will get either the scooter or the teddy bear. 

7. The 4-year-old boy, who is not Dylan, will get a blue teddy bear. 

8. The English boy’s present is not red. 

9. Dylan lives in Sydney. 

10. The scooter is not for the oldest boy. 

 
 

Name Age Country Toy Colour 

Arthur     

Bruce     

Colin     

Dylan     
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Solutions 
 

Name Age Country Toy Colour 

Arthur 4 Canada teddy bear blue 

Bruce 9 England train yellow 

Colin 6 South Africa scooter black 

Dylan 3 Australia small cars red 

 


